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Note : This paper is of thirty (30) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= rhl ¼30½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

d] [k rFkk x esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu [k.Mksa 

esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds mŸkj 

nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of seven and half 1
2

7  marks each. 

Learners are required to answer two (02) questions 

only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s lkr 1
2

7  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. Describe different stage of mitosis cell division and 

discuss its significance.  

lelw=h dksf’kdk foHkktu dh fofHkUu voLFkkvksa dk o.kZu 

dhft;s rFkk bl foHkktu ds egRo dh foospuk dhft;sA  

2. What is Genetic Code ? Discuss its characteristics and 

importance.  

tsusfVd dksM D;k gS \ blds y{k.k ,oa egRo crkb;sA  

3. Describe the structure and function of Endoplasmic 

Reticulum.  

,.MksIykfLed jsVhdqye dh lajpuk ,oa dk;ksZa dk o.kZu 

dhft;sA  

4. What do you understand by mutation breeding ? 

Describe the various kinds of mutagens use in plant 

breeding.  

mRifjorhZ iztuu ls D;k vfHkizk; gS \ ikni iztuu foKku 

esa iz;qDr gksus okys fofHkUUk mRifjorZtuksa dk o.kZu dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of two and  half 1
2

2  marks each. 

Learners are required to answer four (04) questions 

only. 
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ 1
2

2  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Describe the characteristics of a prokaryotic cell. 

izksdSfj;ksfVd dksf’kdk ds y{k.kksa dk mYys[k dhft;sA  

2. Differentiate between Euchromatin and 

Heterochromatin.  

;wØksesfVu rFkk gsVjksØksesfVu esa vUrj crkb;sA  

3. Explain Mendel‟s law of independent assortment.  

es.My dk LorU= vIkO;wgu dk fu;e le>kb;sA  

4. Write a short note on Plasmids.  

IykfTeM~l ij ,d laf{kIr fVIi.kh fyf[k;sA  

5. Write a note on pure line selection.  

I;ksj ykbu lysD’ku ij ,d fVIi.kh fyf[k,A 

6. What is Hybridization ? Describe in brief.  

ladj.k D;k gS \ la{ksi esa crkb;sA  

7. Discuss contribution of Dr. M. S. Swaminathan.  

MkW- ,e- ,l- LokehukFku dk ;ksxnku crkb;sA  

8. Write a short note Peroxisomes.  

ijvkWDlhlkse ij ,d y?kq fVIi.kh fyf[k,A  
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

  mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

 vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write down correct options.  

mi;qDr fodYi fyf[k;sA  

1. Nucleoside consists of :  

(a) Sugar, Purine and Pyrimidine  

(b) Purine, Sugar and Phosphates  

(c) Sugar, Pyrimidine and Phosphates  

(d) Only Phosphates  

U;wfDyvkslkbM esa ik;k tkrk gS % 

¼v½ ‘kdZjk] I;wjhu rFkk ikbfjfeMhu 

¼c½ I;wjhu] ‘kdZjk rFkk QkWLQsV~l 

¼l½ ‘kdZjk] ikbfjfeMhu rFkk QkWLQsV~l 

¼n½ dsoy QkWLQsV~l 

2. The cross of 1F  hybrid with the recessive parent is 

called :   

(a) Back cross  
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(b) Test cross  

(c) Reciprocal cross  

(d) Double cross  

izFke ih<+h ds ladj ,oa vizHkkoh tud dk ladj.k dgykrk 

gS % 

¼v½ cSd ladj.k  

¼c½ VsLV ladj.k 

¼l½ O;qRØe ladj.k  

¼n½ f}ladj.k  

3. Transfer of information from m-RNA to a polypeptide 

chain is called :  

(a) Amination  

(b) Deamination  

(c) Transamination  

(d) Translation  

,e-&vkj- ,u- ,- ls iksyhisIVkbM eas lwpuk ds gLrkUrj.k dks 

dgrs gSa % 

¼v½ ,ehus’ku 

¼c½ Mh,ehus’ku 

¼l½ VªkUl,ehus’ku 

¼n½ VªkUlys’ku  

4. Parts of D. N. A. which switch their positions are 

called as :  

(a) Exons  
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(b) Transposons  

(c) Episomeos  

(d) Cistrons  

Mh- ,u- ,- ds Hkkx tks viuk LFkku cnyrs jgrs gSa] dgykrs 

gS % 

¼v½ ,DlkWUl 

¼c½ VªkalikstksUl 

¼l½ ,filksEl 

¼n½ flLVªkWUl 

5. Name of the process for cutting and removing the 

stamens from flower at the time of hybridization is :  

(a) Introduction  

(b) Acclimitization  

(c) Emasculation  

(d) Hybridization  

ladj.k ds le; iq”i ds iqadsljksa dks dkVdj gVkus dh 

izfØ;k dk uke gS % 

¼v½ iqu%LFkkiuk 

¼c½ ,DyhekbVkys’ku 

¼l½ besLdqys’ku 

¼n½ ladj.k  

Indicate whether the following statements are true or false :  

fuEufyf[kr eas ls dkSu&lk dFku lR; vFkok vlR;] crkb;s %  

6. I. A. R. I. is located in Pusa (Bihar). 

vkbZ- ,- vkj- vkbZ- iwlk ¼fcgkj½ eas fLFkr gSA  
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7. Dr. Norman Borlaug is known as the father of green 

revolution.  

Mk- ukWeZu cksjykWx dks gfjr ØkfUr ds tud ds :i esa tkuk 

tkrk gSA  

8. Largest wheat producing country in the world in 

China.  

xsgw¡ dk nqfu;k esa lokZf/kd mRiknu djus okyk ns’k phu gSA  

9. Thylakoid is a part of vacuole.  

FkkbysdkWbM fjfDrdk dk ,d Hkkx gSA  

10. Protein synthesis occurs in Nucleolus.  

izksVhu la’ys”k.k dksf’kdk nzO; eas gksrk gSA  
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